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     EXCEL CIVILS ACADEMY 
DAILY CURRENT AFFAIRS 

                                                          Date: 14-09-2021 

 

1. Subansiri River is the  tributary of  

a) Brahmaputra River                   b) ganga                c) mahanadhi                       d) godavari 

 

2. Recently, the inaugural “2+2” Ministerial-level meeting was held between India and Australia in  

a) New Delhi                           b) Gandhi nagar                    c) Brisbane                       d) Sydney 

 

3. IIT Hyderabad has developed a noise control sheet, identify the correct statement regarding this 

particular development: 

1) The noise control sheet has been inspired by honeycomb. 

2) Honeycomb has excellent noise cancellation properties. 

3) Honeycomb can manage both high and low frequencies. 

Which of the statements given above is/are correct? 

 a) 1 and 2 only                       b) 2 and 3 only                         c) 1 and 3 only                   d) 1, 2 and 3 

 

4. Identify the correct statement regarding CRISPR: 

1) CRISPR technology can be used to deal with the problem of mosquitoes. 

2) CRISPR was inspired by the working of bacteriophage. 

Which of the statements given above is/are correct? 

 a) 1 only                                      b) 2 only                          c) 1 and 2 only              d) neither 1 nor 2 

 

5. Consider the following statements: 

1) NarasimhaSaluva ended the Sangama dynasty and seized the throne for himself and started the 

Saluva dynasty. 

2) ViraNarasimha deposed the last Saluva ruler and seized the throne for himself. 

3) ViraNarasimha was succeeded by his younger brother, Krishnadeva Raya. 

4) Krishnadeva Raya was succeeded by his half-brother, Achyuta Raya. 

Which of the statements given above are correct? 

a) 1, 2 and 3                                b) 2, 3 and 4                            c) 1 and 4                   d) 1, 2, 3, and 4 

 

6. Consider the following statements: 

1) The First Session of the Indian National Congress was held in Calcutta. 

2) The Second Session of the Indian National Congress was held under the president ship of 
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DadabhaiNaoroji. 

3) Both Indian National Congress and Muslim League held their sessions at Lucknow in 1916 and 

concluded the Lucknow Pact. 

Which of the statements given above is, are correct? 

 a) 1 and 2                              b) 2 only                              c) 2 and 3                            d) 3 only  

 

7. No part of the proceeds of this tax can be assigned to the states 

a) Service tax 

b) Corporation tax 

c) Taxes on the sale or purchase of goods in course of inter-state trade 

d) Income tax 

 

8. Interdependence between the legislative and executive organs is most relevant in which of these types 

of political systems? 

a) Presidential system 

b) Parliamentary system 

c) Autocratic systems 

d) A Monarchy based on Referendums 

 

9. Who was the last ruler of the Tughluq dynasty of the Delhi Sultanate? 

(a) Firuz Shah Tughluq 

(b) Ghiyas-ud-din Tughluq Shah II 

(c) Nasir-ud-din Mahmud 

(d) Nasrat Shah  

 

10. Consider the following statements: 

1) The Chinese pilgrim Fa-Hien attended the fourth Great Buddhist Council held by Kanishka. 

2) The Chinese pilgrim Huan-Tsangmet Harsha and found him to be antagonistic to Buddhism. 

Which of the statements given above is/are correct? 

 a) 1 only                                 b) 2 only                             c) Both 1 and 2               d) Neither 1 nor 2 

  


